




















Replacement Attachment Mounting Dimensions

NEMA type 1 Enclosure IPOO Enclosure
Inverter Model
W Wi H H1 HP D M W Wi W2 W3 H H1 H? D M
CIMR-AO2A0004
0006
0008 | 140 | 126 | 280 | 266 6 157 M5 ¥ - - £
0010
0012
C'MR'AD2A88;§ 140 | 126 | 280 | 266 6 174 M5 ¥ - - Y1
CIMR-AD2A0030 | 140 | 126 | 280 | 266 6 177 M5 Y1 - - Y
CIMR-AD2A0040 | 200 | 186 | 300 | 285 6 177 M6 ¥ - - Y
CIMR-AD2A0056 | 200 | 186 | 300 | 285 8 197 M6 Y1 - - Y
CIMR-AD2A0069 | 240 | 216 | 350 | 335 8 207 M6 ¥ - - Y
CIMR-AD2A0081 | 240 | 216 | 365 | 335 8 207 M6 200 | 216 - - 350 | 335 8 207 M6
C'MR'A”2A8;$$ 329 | 250 | 765 | 575 |177.5| 283 | Mi0 | 325 | 250 - - 600 | 575 | 12.5 | 283 | M10
C'MR'ADZAggﬁg 150 | 325 - - 725 | 700 | 12.5 | 330 | M10
CIMR-AD2A0360 500 | 370 - - 850 | 820 13 350 | M12
CIMR-AD2A0415 500 | 445 - - 885 | 855 13 350 | M12
CIMR-AD4A0002
0004 | 140 | 126 | 280 | 266 6 157 M5 ¥ - - £
0005
CIMR-AO2A0007
0009 | 140 | 126 | 280 | 266 6 174 M5 ¥ - - £
0011
CIMR-ADAA0018 | 140 | 126 | 280 | 266 6 177 M5 ¥ - - Y
CIMR-AD4A0023 | 200 | 186 | 300 | 285 6 177 M6 ¥ - - Y
CIMR-AD4A0031 | 200 | 186 | 300 | 285 8 177 M6 ¥ — — Y
CIMR-AD4A0038 | 240 | 216 | 350 | 335 8 197 M6 ¥ - - Y
CIMR-AD4A0044 | 240 | 216 | 350 | 335 8 207 M6 Y1 - - Y
CIMR-ADAA0058 | 260 | 220 | 514 | 435 | 71.9 | 258 M6 260 | 220 - - 150 | 435 | 1.5 | 258 M6
CIMR-AD4A0088 | 329 | 260 | 630 | 535 | 86.2 | 258 M6 325 | 260 - - 550 | 535 | 7.5 | 258 M6
CIMR-ADAA0T03 | 329 | 260 | 670 | 535 |127.5| 258 M6 325 | 260 - - 550 | 535 | 7.5 | 258 M6
CIMR-AD4A0T65 | 359 | 325 | 900 | 700 |187.5| 303 | M10 | 359 | 325 - - 725 | 100 | 12.5 | 303 | M10
CIMR-AD4A0208 150 | 325 - - 725 | 100 | 12.5 | 330 | M10
CIMR-AGARD DY 500 | 370 - - 850 | 820 | 13 | 350 | M12
CIMR-AD4A0362 500 | 445 — - 885 | 855 13 350 | M12
CIMR-AD4A041 4 629 | 540 | 240 | 270 | 1305 | 1270 | 13 370 | M12
CIMR-AD4A0515 675 | 540 | 240 | 270 | 1305 | 1270 | 15 370 | M12

¥1 Dimensions for the IP00 enclosure are the same as NEMA type 1. Dwg. No. £E//7020801-7/10



Replacement Attachment Mounting Method-

(These drawings describe a case of the CIMR-AO2A0012 (NEMA type 1 enclosure).

Mount attachment A to the standard mounting leg on the
inverter using the M> x 16 pan-head screws + § + W,

Completion Diagram

M5X16 pan-head screwst+tS+W(x4)

|

®
S %@

S

PR e

==

0

Attachment A

Dwg. No. £/7020801-8/10



Replacement Atftachment Mounting Method-2

(These drawings describe a case of the CIMR-AD4A0058 NEMA type
installation do not have a top or bottom cover.)

enclosure. Drives with an [P0OO

Remove the standard mounting legs on the bottom and the top of the drive, and

install replacement attachments A and B.
leg.

attachment for the mounting

Attachment A

(For more information,

See the table on the

Some models do not require o replacement
see page 10/10.)

right for mounting screws.

the mounting leg

Screws for securing

Standard
mounting

leg

Replacement Attachment Mounting Method-3

(These drawings describe a case of the CIMR- AD4A0165 NEMA
type 1 enclosure. Drives with an [P00 Installation do not
have a top or bottom cover.)

Start by affixing the attachment to the wall. Next
mount the A1000 to the attachment using the M6 x 16
pan-head screws + S + W included with the replacement
attachment. When mounting a NEMA type 1 enclosure to «a
wall, remove the NEMA type 1 cover and then tighten
the installation screws to mount the drive on the
attachment. Reattach the NEMA type 1 cover.

M6X16 pan-head
screws S+W(x2)

MEx16 pan-head

screws S+HW(x?2)

NEMA type
1 cover

Inverter Model Mounting Screws
CIMR-ABZACTEY IM6x14 pan-head screws+SHN(x2)|
CIMR-AD2A0250 M10x20 bolts+S(x2)
0312 M10 washer (x2)
CIMR-AD?A0360 M1M01><02 Owobsohle’rrsv’r(SX(ZX)Z)
Top cover
CIMR-AD2A0415 M10x20 bolts+S(x2)
Attach B M10 washer (x2)
Cians d‘“ me:_ L CIMR-ADAA0058 [M6XT4 pan-head screws+SHH(x2) |-
andard mounting leg CIMR-ADAA0088 -
Screws for securing the mounting leg C|MR'AD4A0?§§ M6x14 pan-head screws+SHI(x2)
When mounting the NEMA type 1 enclosure to «a M10x20 bolts+S(x2) |
wall, remove the NEMA type 1 cover and then CIMR-AO4A0208 M10 washer (x2)
tighten the installation screws to mount the CIMR-AO4A0250 M10X20 bolts+S(x2)
drive. Reattach the NEMA type 1 cover. 0296 M10 washer (x?)
) M10x20 bolts+S(x2)
CINR-AD4A0 362 M10 washer (x2)
Completion Diagram CIMR-AD4A0414 -
CIMR-AD4A0515
NEMA type 1 cover
Top side
Bottom side

Attachment A
First mount the attachment to the wall.

Inverter Model Mounting Screws

l

CIMR-AD4A0165 [M6X16 pan-head screws+S+W(x4)

Completion Diagram

£EZ7020801-9/10



Attochment Code Number List
Inverter Model Order Code Product Code Parts Code Mounting Screws Mount ing Remarks
Attachment Method
CIMR-AD2A0004
0006
0008
0015 | 100-047-230 | 72606-E72020801A |  SPAT35357-A(x2)  |M5x16 pan-head screws+S#W(xd)
0018
0021
0030
CIMR-AD2A0040 | 100-047-231 | 72606-£70208018 SPAT35358-1(x2)  M5x16 pan-head screws+SHi(xd)
CIMR-AD2A0056 | 100-047-232 | 12606-E27020801C SPAT35359-A(x2)  M5x16 pan-head screws+SHW(x4)
CIMR-AGZAODES | 100-047-234 | 72606-£22020801E SPAT35361-A(x2)  MSx16 pan-head screwssSHbO)| y
CIMR-AO4A0002
0004
0005
0007 | 100-047-230 | 72606-E77020801A SPAT35357-1(x2)  M5x16 pan-head screws+S+H(x4)
0009
0011
0018
CIMR-AO4A0023 | 100-047-231 | 12606-£E27020801B SPAT35358-1(x2)  M5x16 pan-head screws+SHi(x4)
CIMR-AD4A0031 100-047-232 | 12606-£27020801C SPAT35359-A(x2)  M5x16 pan-head screwstSHl(x4)
CIMR-AD4A0038 | 100-047-233 | 12606-£27020801D SPAT35360-1(x2)  M5x16 pan-head screwstSHl(x4)
CIMR-ADAA0044 | 100-047-234 | 12606-EZ7020801F SPAT35361-A(x2)  M5x16 pan-head screwstSHl(x4)
Parts Code Mount i
Inverter Model Order Code Product Code Attachment A Attachment B Mounting Screws aunting Remarks
. . Method
(top mounting leg) |(bottom mounting leg)
CIMR-ADZABIED | 100-048-118 | 72606-E22020801F BMDT 41091 -1 BMDT41092-1  M6x14 pan-head screws+S+H(x2) 1
CIMR-AD2A0250 o ] ] . MT0x20 bo Lfs+S(x2)
0317 100-051-153 12606-E77020801L BMDT41097-1 No attachment required M10 washer (x2)
CIMR-AD2A0360 | 100-051-154 | 72606-E27020801M |  BMDT41098-1 o aftachment required| "1 py&0 bolfstafus) Attachment for P00 installation
CIMR-AD2A0415 |  100-051-155 | 72606-EZ7020801N |  BMDT41099-1 BMDT41100-1 M10x20 bolts+5(xz)
M10 washer(x2)
CIMR-AD4A0058 | 100-048-119 | 72606-E270208016 BMDT41088-1 BMDT41089-1  M6x14 pan-head screws+S+H(x2) 1
CIMR-AO4A0088 100-048-120 12606-E7/020801H |No attachment required BMDT41093-1 - ) Attachment for NEMA type 1 installation
Attachment for IPOO installation
CIMR-AQAAODES 1 100-048-121 | 72606-E22020801J |  BMDT41090-1  |No affochment required M6xTd pan-head screws+S#W(x2) .
CIMR-AD4A0208 | 100-051-153 | 72606-E72020801L |  BMDT41097-1  |No atfachment required| ' X80 bolissdine)
CIMR-ADAAOZO0 | 440_051-154 | 72606-E27020801M |  BMDT41098-1  |No atfachment required M10x20 boltst3(x2)
0296 M10 washer (x2) | |
M10X20 bOHS’fS(XZ) Attachment for P00 installation
CIMR-AO4A0362 | 100-051-155 | 72606-E27020801N BMDT41099- 1 BMDT41100-1 pen bollsiad)
CIMR-AD4AO4T4 | 100-062-531 | 12606-£27020801P BMDT31019-A BMDT41154-1 -
CIMR-AD4A0515 | 100-062-538 | 12606-E270208010 | BMDT31020-A BMDT41155- 1 -
CIMR-AO4A0165 100-048-122 12606-£E72020801K SPAT35367-A No attachment required Mox16 pan-head screws+S+W(x4) 3 %

¥1 Both NEMA type 1 and

P00

installations use the

same aftachmen

t.

Dwg. No. £/77020801-10/10



